Circles – Assessment Options
Choose one or more of these items to replace part of the chapter test. Tell students they will receive from 1 to 5 points for each item, depending on the correctness and completeness of their answer.

1.
(Chord Properties)


Circle U passes through points A(6, –8), B(16, –4), and C(10, 8). Find the coordinates of the centre of the circle. Describe in detail the method you use.

2.
(Tangents, Circumference, and Arcs)

Tangential velocity is a measure of the distance an object travels along a circular path in a given amount of time. For example, if an object covers a circular path with circumference 20
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 metres in 5 seconds, then its tangential velocity is 4
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 metres per second.
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A carnival ride at Hold On Fun Park has seats attached to the circumference of a horizontal wheel. This wheel is in turn attached at its centre to the circumference of a larger horizontal wheel. The larger wheel ahs a radius of 8 m and rotates at a speed of 5 rpm (rotations per minute). The smaller wheel has a radius of 2 m and rotates at 20 rpm.


You, in the seat, feel the combined effect of both rotations. For example, suppose you are sitting at point P in the diagram. If 
[image: image3.wmf]1

v

ur

 is the tangential velocity of the point where the larger circle attaches to the centre of the smaller circle, and 
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 is the tangential velocity of point P, the velocity you experience with be the sum of 
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. Find the maximum and minimum velocities you will experience while on the ride. (Give the magnitude only, not the direction.) Explain your reasoning.
3.
(Arc Length)

In the lobby of the Natural World Science Centre, a long pendulum is suspended from the ceiling. The pendulum cable is 20 metres long, and the heavy bob swings through an arc of 15°. The time t, in seconds, for one complete swing (back and forth) is given by the formula 
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, where l is the cable length in metres.


a)
What is the average speed of the pendulum bob in metres per second? Explain the method you used to find the answer.


b)
How many kilometers does the bob travel in one year? Explain the method you used to find the answer.
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